Product Code
50-502-10-001

CABS00 Filter Pad

SUMMER|
CLEARANCE

HUGE SAVINGS ON

SEL ES

Product Code
70-702-10-023

Description
Filter Roll 700mm X 100m PP70

Product Code
70-801-10-000

Descri
DIRECTAMIST SPRAY APPLICATOR

50-504-10-003

Mx25 Hepa Filter

70-702-10-024 |Filter Roll 540mm X 40m PE100

70-801-10-001

SPRAY UNIT 485MM

50-505-10-003

Revon 6 Silencer Reco Jet BWA

70-702-10-025 | Filter Roll 500mm X 100m P301

80-804-10-003

300-600KG SMOOTH FLOOR MED/HIGH VIBE

50-505-10-006

Bofa 500 Pre Filter

70-702-10-030 | Filter Roll 1000MM X 100M Grade P715

80-810-10-003

Ft800 Belt - Non Standard

50-505-10-007

Bofa 250 Main Filter

70-702-10-031 | Filter Roll 1020mm X 100mtr PE100

80-810-10-008

FT300 BELT-NON STANDARD

50-505-10-010

Torit Donaldson MMB Wrap Filter

70-702-10-032 | Filter Roll 475mm X 100mtr P301

80-818-10-000

Cooling Line Starter Kit L1/4SET1

50-505-10-024

Micron Filter Wrap icroil Kube 800/1200

70-702-10-033 | Filter Roll 1500mm X 250M Grade P720

80-818-10-001

1/4" Spacer 28mm with ball and nut

50-505-10-040

Post Filter Kube 200 / 400 with adaptors.

70-702-10-037 |Filter Roll 1000mm X 80m Grade PE100

80-818-10-002

1/4" Spacer 43mm with ball and nut

50-505-10-049

Replacement Filter Pads - IFE 2000

70-702-10-038 | Filter Roll 750mm X 100m Grade P720

80-818-10-003

1/4" Spacer 70mm with ball and nut

50-505-10-050

Micron Filter Wrap Kube 2000/2500

70-702-10-041 |Filter Roll 700mm X 100mtr Grade P130

80-818-10-004

1/4" Round nozzle bore 3.5

50-510-10-003

Ff10V Lamp Assembly - Yellow

70-702-10-059 |Filter Roll 1030Mm X 300M PP30

80-818-10-005

1/4" Round nozzle bore 4.5

50-510-10-006

Ff10V Lamp Assembly - Red

70-702-10-067 |Filter Roll 1300Mm X 250M P425

80-818-10-006

1/4" Round nozzle bore 5.5

50-510-10-007

Ff10V Lamp Assembly - Green

70-702-10-086 | Filter Roll 500Mm X 250M Grade P130

80-818-10-007

1/4" Special nozzle 5.0 / 7 x 1.8-90° S

50-510-10-010

FF10V 230/400V 3 PHASE FAN

70-702-10-093 | Filter Roll 700Mm X 100M Grade N70

80-818-10-008

1/4" Special nozzle 5.0 / 7 x 1.8-90° L

50-510-10-012

FF10V Lamp Assembly - White

70-702-10-109 | Filter Roll 900Mm X 100M Grade N40

80-818-10-009

1/4" Special nozzle 5.0 / 7 x 1.8-60° S

50-510-10-014

FF10V Collector Cell 1000- Reconditioned

70-702-10-113 | Filter Roll 950Mm X 40M Grade 00604

80-818-10-010

1/4" Special nozzle 5.0 / 7 x 1.8-60° L

50-510-10-015

FF10V HT CONTACT ASSEMBLY

70-702-10-114 |Filter Roll 970Mm X 240M Ree 2024

80-818-10-011

1/4" Elbow 90° with ball and nut

60-207-10-000

Mistpure U10/20 Drum Pad

70-702-10-115 | Filter Roll 990Mm X 250M Ree 2016

80-818-10-012

1/4" Quatro distribution block 90° with

60-207-10-001

Mistpure U10/U20 Silencer

70-702-10-121 |Filter Roll 330mm X 100m Grade PP30

80-818-10-013

1/4" T-distrbutor with ball and nut

60-207-10-002

Mistpure U20 Pre-Filter

70-702-10-132 | FILTER ROLL 1010mm X 150M P720

80-818-10-014

1/4" Y-distributor with ball and nut

60-207-10-003

Mistpure U34 Drum Pad

70-702-10-135 | Filter Roll 810mm X 225mtr PP50

80-818-10-015

Ball valve 1/4" with ball and nut

60-209-10-000

AC1000 POWER PACK

70-702-10-138 | Filter Roll 1520mm X 75M Grade PE150

80-818-10-016

Nut with ball socket SW16x7

60-216-10-011

Filtermist Do Not Adjust Label (250)

70-702-10-144 |Filter Roll 440mm X 150m Grade P301

80-818-10-017

Threaded connector single-sided with ball socket M12 x 1

60-216-10-013

Label Dispenser Refill

70-702-10-150 |FILTER ROLL 420MM X 100M NEEDLEFELT

80-818-10-018

Threaded connector single-sided with ball socket 1/4"

60-298-10-001

Pre Filter 448 x 448 x 47

70-702-10-153 | Filter Roll 1520m X 75m PE130

80-818-10-019

Threaded connector single-sided with ball socket 1/4" NPT

60-504-10-001

MX10 PRESSURE GAUGE (EACH)

70-702-10-158 | FILTER ROLL 500mm X 50M - PE622

80-818-10-020

Threaded connector single-sided with ball socket 1/8" NPT

60-505-10-022

Losma Spare Filter for Clipper 20.9

70-702-10-172_|Filter Roll 460mm x 100mtr Poly PP50

80-818-10-022

Threaded connector single-sided with ball socket M10 x 1

60-505-10-028

Losma AS4DC Motor 1.5kw.

70-702-10-173 | Filter Roll 686mm x 250mtr Grade P720

80-818-10-023

O-ring 1/4"

60-601-10-006

Yellow Lamp Assembly.

70-702-10-180 | Filter Roll 700mm X 150mtrs P302

80-818-10-024

Hexagon wrench SW11 / SW16

60-601-10-014

LTA AC3001 loniser Wire

70-702-10-181 |Filter Roll 720mm X 150mtrs P302

80-818-10-025

Spacer 46.5mm with ball and nut

60-601-10-015

LTA AC3001 Lead Thru Insulator

70-702-10-182 | Filter Roll 1000mm X 150mitrs P302

80-818-10-026

Spacer 63.5mm with ball and nut

60-601-10-016

LTA AC1000 loniser Wire

70-702-10-190 | Filter Roll 700mm X 100mtr Grade 09

80-818-10-027

Spacer 80mm with ball and nut

60-601-10-017

LTA AC1000 & AC3001 HT Lead

70-702-10-198 |Filter Roll 970mm X 250mtr Grade 9110

80-818-10-028

1/2" Round nozzle bore 6

60-601-10-021

Bofa 700 Pre Filter

70-702-10-201 |Filter Roll 520mm x 100M semi course

80-818-10-029

1/2" Round nozzle bore 8

60-601-10-024 |V Belt A38" 70-702-10-205 | Filter Roll 500mm X 100m 00235 80-818-10-030 [Round nozzle bore 10
60-601-10-025 |V Belt A39" 70-702-10-207 |Filter Roll 720mm X 100mtr Poly P220 80-818-10-031 [1/2" Elbow 90° with ball and nut
60-601-10-028 |Bulb 6V Incand Min Bynt 70-702-10-208 |FILTER ROLL 770MM X 50M PE NEEDLEFELT 80-818-10-032 [1/2" T-distributor with ball and nut
60-601-10-029 |V Belt A40" 70-702-10-219 |FILTER ROLL 1000MM X SOMTR 80-818-10-033 [1/2" Y-distributor with ball and nut

60-601-10-034

Losma Metallic Filter

70-702-10-222 |FILTER ROLL 410MM X 100M GRADE P725

80-818-10-034

Ball valve 1/2" with ball and nut

60-601-10-038

LTA AC3002R loniser Wires

70-702-10-238 | FILTER ROLL 720MM X 250M GRADE N50

80-818-10-035

Nut with ball socket SW27x10.5

60-601-10-063

Main Filter -Chemical Only - For Purex

70-702-10-239 |FILTER ROLL 710MM X 50M PE100

80-818-10-036

Threaded connector single-sided with ball socket 3/8" NPT

60-601-10-064

LTA AC3002 Indicator Light

70-702-10-241 |FILTER ROLL 730MM x 80M PE70

80-818-10-037

Threaded connector single-sided with ball socket 3/8"

60-601-10-077

AC51000 Collector Cell

70-702-10-243 | FILTER ROLL 760mm x 150m - 09110

80-818-10-038

Threaded connector single-sided with ball socket 1/2" NPT

60-601-10-087

Power Supply 110V HG12 11,1/5,5Kv

70-703-10-004 |F9 Bag Filter 592x287x535 DAMBSK1045025

80-818-10-039

O-ring 1/2"

60-601-10-109

Donaldson Dry Flow Cartridge MMB

70-704-10-000 | 2m x 20m 2" Thick Paint Stop

80-818-10-040

Hexagon wrench SW21 / SW27

60-601-10-110

Losma Power Pack ALM 10/WITH SYN

70-705-10-007 |Hydraulic Filter Element

80-818-10-041

1/4" M8 Connector

70-204-10-005 | JOINT LINK FOR DUPLEX CHAIN 70-705-10-008 | Spin On Filter 25 Mic L121192BK  |1/4" MALE NPT VALVE BLACK (2 PCS)
70-204-10-027 |LOSMA GALILEO G1000 SPARES KIT WITH SEAL 70-705-10-012 | Hydac Hydraulic Filter 10 Micron 1132095 1/2" MANIFOLD BRACKET (2 PCS)
70-204-10-028 |LOSMA GALILEO GP500 SPARES KIT 70-705-10-015 | Hydac Hydraulic Filter Element 1132099 1/2" MODULAR MANIFOLD (1PC)
70-204-10-029 | LOSMA GALILEO GP3000 SPARES KIT 70-705-10-018 _ |Filter Cartridge - 10 Micron L139853BLK |Black 1/2" FEMALE NPT VALVE (10 PCS)
70-204-10-099 | A39 DRIVE BELT 70-705-10-030 | Baldwin Suction Strainer Pt 9224 1140474 1/4" EXTENDED ELBOWS C/W CLAMPS
70-204-10-102 |ACC3245 450 CURVED ACCESS DOOR 300X200 70-705-10-056 | Filter Cart 10Mic 30" Nylon Code 7 Cap LL40657 1/4" FEMALE PIPE COUPLING (4 PCS)
70-204-10-178 |LOSMA D1200 M DRUM (MONO) 70-705-10-096 |HYDAC HYDRAULIC FILTER LL41401BK  |1/4" HOSE SEGMENT PACK BLACK (2 PCS)
70-204-10-179 |LOSMA D1200 D DRUM (DOUBLE) 70-705-10-113 | Fairey Arlon Hudraulic Filter Element 1141416 1/4" T FITTING PACK (2 PCS)
70-204-10-182 | LOSMA D3000 M DRUM 70-705-10-130 | Mahle Filter PX33-13-2-SMX10 1141476 1/4" EXTENDED ELEMENTS (4 PCS)
70-204-10-188 | NEDERMAN SHAKER FRAME 25M 70-706-10-010 |70 Mic 40" Spun Pp Filter D.O.E. 1141480 1/4"END CAPS (4 PCS)
70-204-10-199 | DUST BIN, L85 , ID546 MM, H380MM, C90 70-706-10-018 | Depth Cart 50 Mic 30" Code A End Caps LL41481BK | SWIVEL NOZZLE 40 (2 PCS) BLACK
70-204-10-215 |NORGREN DIAL PRESSURE GAUGE 70-706-10-021 |Pleated Cartridge 10 Mic 20" 1141491 1/4" EXTENDED ELBOWS (PACK OF 4)
70-208-10-069 | QUICK RELEASE CLAMPS - 250MM DIAMETER 70-706-10-026 | Pleated Polypro 5 Mic 10" Filter Code 0 1141757 1/4" FEMALE PIPE COUPLING (20 PCS)
70-208-10-074 |P2PU 102mm ID x 10.00 Mitr Length 70-706-10-027 |Pleated Polypro 10 Min 10" Filter Code 0 1149431 1/4" SOCKET X 1/8" FNPT (20 PCS)
70-208-10-082 | 127MM X 10M DUCTING WITH CLEAR COPPER 70-706-10-032 |10 Mic. Wound Cotton On Pp Core 10" Long 1149436 1/4" T FITTING (20 PCS)
70-203-10-024 | IONISER WIRES FOR SMOGHOG (PACK OF 10) 70-706-10-035 |25 Micron Wound Cotton 10" Long 1149450 1/4" SWIVEL NOZZLE 60 (20 PCS)
70-209-10-040 |POWER SUPPLY 230V 12/6KV FOR AN IFE300 70-706-10-036 |5 Mic Wound Cotton Pp Core 10" LL50658 3/8"TO 1/4" FNPT REDUCER (4PCS)
70-203-10-045 | LTA DOOR CONTACTS - DOOR FT CONTACT 70-706-10-043 |5 Micron Wound Pp 10" Long LL50659 1/2"TO 1/4" FNPT REDUCER (4 PCS)
70-209-10-068 |LOSMA SYNTHESIS IONISER WIRE & SPRING X9 70-706-10-047 |PLEATED GLASS FIBRE 0.45 MIC 10" CODE 3 LL51760 3/8" FEMALE COUPLING (20 PCS)
70-209-10-069 |LOSMA SYNTHESIS DOOR INSULATORS 70-706-10-048 |50 MIC. WOUND COTTON ON PP CORE 10" LONG LL51801BK |1/2" HOSE SEGMENT PACK (2 PCS) BLACK
70-203-10-070 | LTA CAPACITOR FOR RADIAL BLOWER 70-706-10-060 | Depth Cart 190mic Abs Nylon Media 10" LL51808BK  |1/2" Y FITTING PACK (2 PCS) BLACK
70-209-10-079 |1.5" DIAPHRAGM REPAIR KIT 70-707-10-065 | Polyester Bag 25 Micron - Size 2 LL51823 3/8" SAE FLARE NUT ADAPTOR (4 PCS)
70-209-10-083 | 21-1216D CLARCOR POWER PACK 70-707-10-069 |SPUN FILTER 20 MIC 40" PP CODE 3 END CAP LL51825 1/2" TFITTING (2 PCS)
70-217-10-019 |ACS3000 MOTOR (2.2 KW 3 PHASE) 70-707-10-071 |POLYPROP NEEDLEFELT SEWN FILTER BAG LL51826 3/8" BSP CONNECTOR (4PCS)
70-701-10-001 |Filter Roll 1780mm x 100m Medium 70-707-10-111 |Filter Bag 200 Micron Size 1 Nylon 1151831 1/2" 90 DEG SPRAY BAR (2 PCS)
70-701-10-007 _|Filter Roll 1000mm X 150m Semi Course 70-707-10-119 |Filter 403004 F5/50 Retardent 595x595x45 1151836 1/2"SIDE FLOW NOZZLE (4 PCS)
70-701-10-008 _ |Filter Roll 710mm X 150m Semi Course 70-707-10-138 | FILTER BAG DUOLINE 100MIC LL51840 1/2" FLAT SLOT 80 NOZZLE (4 PCS)
70-701-10-009 |Filter Roll 1040mm X 150m Fine Viscose 70-707-10-192 | PRE FILTER SHEET FOR OKI BUX-200 LL51895 1/2" FIXED MOUNT (2 PCS)
70-701-10-017 _|Filter Roll 1000Mm X 250M Medium 70-707-10-245 |ACS51000 ALUMINIUM PRE FILTER LL51896 1/2" EXTENDED ELBOWS (PACK OF 4)
70-701-10-020 _|Filter Roll 1020Mm X 150M Fine 70-712-10-0007 | BAG UMA 150 DURA LIFE LL59861BK |1/2" SEGMENTS (S0 FOOT COIL) Black
70-701-10-022 _ |Filter Roll 1020Mm X 300M Semi Coarse 70-712-10-025 |492mm X 592 X 650mm DEEP - T60 PREMIER LL59863BK |1/2" Nozzle (S0pcs) Black
70-701-10-026 _ |Filter Roll 1040Mm X 100M M 70-712-10-040 |610MM X 10000MM T15 5005! SYNTHETIC PAD LL59878 1/4" 90 DEG NOZZLE FOR 1/2" (20 PCS)
70-701-10-027 _|Filter Roll 1040Mm X 250M Medium 70-712-10-091 |KEMPER 1090315 CARTRIDGE FILTER LL59885 1/2" END CAPS (20 PCS)
70-701-10-032 _|Filter Roll 1340Mm X 100M Coarse 70-712-10-102 |POLYPROPYLENE BAG 50 MIC. 381mm X 493mm LL59896BK |1/2" FIXED MOUNTS BLK (20 PCS)
70-701-10-058 _ |Filter Roll 490Mm X 250M Medium 70-712-10-185 | Filter Roll 1000mm x 200mtrs 1160528 6" X 8" REPLACEMENT SHIELD (1PC)
70-701-10-067 _|Filter Roll 600Mm X 100M Medium 70-712-10-238 | DMC-MMB DRYFLOW WRAP ONLY LL60531 SHIELD MOUNTING ELBOWS (2 PCS)
70-701-10-072 _|Filter Roll 700Mm X 150M Medium 70-712-10-273 _|FILTER CARTRIDGE TYPE P 16/500 LL60532 MAGNETIC BASE (1 PC)
70-701-10-086 _ |Filter Roll 840Mm X 457M Medium 70-712-10-277 |ACS 1500 ALUMINIUM PRE FILTER LL60532BK | MAGNETIC BASE (1PC) BLACK
70-701-10-110 _|Filter Roll 530mm X 100M Medium 70-712-10-304 |SUPERBAG XT15 200/1500 LL61406 LOC-LINE 1/4" BALL VALVE
70-701-10-135 _|Filter Roll 725Mm X 100M medium 70-712-10-340 |DISA AIRMASTER AUTO 25M DUST BAG LL61509 3/4" BSP CONNECTOR (4 PCS)
70-701-10-139 |Filter Roll 590Mm X 100M Medium 70-712-10-345 | SUPERBAG 3000 200/1950 FILTER 1161804 LOC-LINE 3/8" BALL VALVE
70-702-10-008 _ |Filter Roll 600mm X 100mtr Poly P725 70-712-10-351 | CARTRIDGE FOR NEDERMAN FILTER CART LL61807 LOC-LINE 3/4" BALL VALVE
70-702-10-012 |Filter Roll 490mm x 100mtr Poly PE150 70-712-10-364 |BLACK FILTER PAD 470X210X100MM LL69545BK |3/4" NPT CONNECTOR (50 PCS) BLACK
70-702-10-013 |Filter Roll 660mm x 230mtr Poly PPS0 70-712-10-375 | CARTRIDGE ULTRA WEB- 324MM X 660MM 1181209 SHOP VACUUM HOSE ADAPTOR WITH MOUNTING
70-702-10-017 _|Filter Roll 2000mm X 100mtr Grade PP35 70-712-10-404 [ TORIT TD ULTRA WEB CARTRIDGE LL89220CG  |LOC-LINE VAC HOSE BULK 20 X 1 FOOT LGTHS
70-702-10-019 |Filter Roll 710mm X 100mtr Grade P720 70-712-10-471 |FILTER BAG ECONOMECH EM250 FILTER LL89224CG 6" X 3.5" RECTANGULAR NOZZLE (10 PCS)
70-702-10-021 |Filter Roll 630mm X 100mtr Grade P301 70-712-10-653 | PUREX MAIN FILTER - CHEMICAL ONLY LL89323AS  |4.5" ROUND NOZZLE ANTI-STAT (10 PCS)
VM22-PDK  [VACMASTER PLASTIC DRUM KIT *

Air Care Group

(B FILTERMIST

Part of Absolent




